Plot 2D

Program:

clc
x=0:%pi/10:2*%pi
y=sin(x)
subplot(2,2,1)
plot2d(x,y)
xlabel('X','fontsize’,3)
ylabel('Y','fontsize’,3)
subplot(2,2,2)
plot2d2(x,y)
xlabel('X','fontsize’,3)
ylabel('Y','fontsize’,3)
subplot(2,2,3)
plot2d3(x,y)
xlabel('X','fontsize’,3)
ylabel('Y','fontsize',3)
subplot(2,2,4)
plot2d4(x,y)
xlabel('X','fontsize’,3)
ylabel('Y',' fontsize’,3)

Output:
put:
19 19
054 054
e > o4
05+ -05+ 4I_|4H
-1 T T T T T T T T T T T T T 1 -1 T T
1) 0.5 1 158 2 25 3 35 4 45 ) 85 5] 65 7 1] 0. 6 1 1 5 2 25 3 3 £ 4 45 5 55 8 5 5 ?
X
14 14
. \ | | | . o]
054 ‘ ‘ 05 /
-1 T T T T T T T T T T T T T 1 - T T T T T T T T T T T T T
1] 05 1 15 2 25 3 as 4 45 5 55 ] 65 7 o 0s 1 15 2 25 3 35 4 45 5 55 5] 85 7

X X



